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1. The Great Pyramid of Giza was constructed as a regular pyramid with a s TR i Iangh TR
' approximate volume of 2,592,276 cubic m

eters and a height of 146.5 meters. b %L} e & wa)
of its base, to the nearest meter? \ = 3 (L )\W) n S) 30 : .
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dius of 10 cm.
2. A designer needs to create perfectly circular necklaces. The necklaccs‘eachfn?f:d?to have a ra
What is the largest number of necklaces that can be made from 1000 cm of wire

C=20w ,_\P_QE;. ~ 15 nacklaces
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| #What is the area of the trapezoid pictured below (nearest square meter)?
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4. Which object is formed when right triangle RST shown below is rotated around leg RS?
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5. A gallon of paint will cover approximately 450 square feet. An artist wants to paint all the outside surfaces of a
cube measuring 12 feet on each edge. What is the /east number of gallons of paint he must buy to paint the
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6. Two prisms have equal heights and equal volumes. The base of one is a hexagon and the base of the other is a
square. If the area of the hexagonal base is 49 square inches, how many inches are in the length of each side of
the square base? equal hai it + equal vlome = eqUa) bgse areas
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7. Find the volume of each: e 5 NV=T290)3
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9. A circle with a radius of 10 was divi
_ . s divided
in the diagram below. What is th ed into 16 congruent sectors. Th
e value of x to the negrest integc;ﬁ e sectors were then rearranged, as shown
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11. Name 2 types of polyhedron studied this unit. Why are they polyhedrons?

2D sovdS w| flox Faces | Ex. (ve, ONY
! prism 20 20

12. Name a solid that is not a polyhedron and explain why it is not.

Cylinder, sphare ) cone = Lokeral faces ave
ho flat (not polyﬁom)

13. What is the area of the sector in terms of m?
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14. What is the total area that the dog can roam while attached to his leash to nearest tenth?
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15. One quart of paint will cover 100 square feet. Matthew is trying to paint a school project which is in the
shape of a cube measuring 4 feet on each side. Will one quart of paint be enough? Justify your answer,

Suface /\re&

yes, one quart of
G(Ux4) QL £+ pant wall be enough

blc Hhe sulface area of
Hag Cobe is Al F47
16. State the 2-dimensional cross section shape for each solid (parallel to base).
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17. Aright circular cylinder has a volume of 800 cubic feet and a height of 6 feet. What is the radius of the

cylinder to the nearest tenth of a foot? 2
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18. Michael is making pudding for a school project. He fills each rectangular cup with dimensions 2in, 3 in, 1in
with 4 cubic inches of pudding. What percent of each cup is empty?

V=2%x3 X\ =06
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many times larger is the volume of the soccer ball? sOCer ba\\ 2 ‘
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20. What is the area of the shaded region which consists of a right triangle inside of a semi-circle in terms of ?
S r—

19. The diameter of a softball is 3.5 inches and the diameter of a soccer ball is 8.5 inches. Approximately how
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counter tops were installed. A rectangular island in the kitchen now has

‘ kitchen was remodeled and granite
granite top measuring 6 ft. by 8 ft. by 1.2 inches. The density of granite is 168.6 pounds per %,

= (oX2 T e S1.L \n>
@How much does the granite top on the island weigh, to the nearest tenth of a pound?

fortably carry 110 pounds. How many men will be needed to carry the

The average grown m.an can com e
b granite top into the kitchen for installation
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